Exta Ceaddt 1 - duwe 5f13)9

) e ) |
) X fux dx o) J (g)_::)’ i
3) {sin0 s 46 ) [T a dx
4) { sin (66) cos 40 9) Jx’ K2
5) Jx"eﬁ'xdx 10) ]X(xtg) A

Exbe Ceedik 2 — due 51414

In 1-3, ust subshtubion In 6ah 7, use pock (ﬁ/aulc,)
1) §x ’\/7-3,( dx 6) szefxd
3 7-X
2) {x'e ) jX%X i
3) jc«»sx~5un(cosx) dx ] = b\
e T . I8 i< subsh hehion

In 4-5 use tbleof :'m‘fjmls-‘ T2 :L4 use Trig.§

‘f) SS|'A3X d)( g) Sm Ax

|
5\ Segxcgs(z;()ol)( q) KW Ax




Extes Ceetit )(ss[jhwu+ 3 Pne 5/'6/17

Frak adh fn"-{jwb\ bj Yo method \‘nc\(cuk&( o check Your
anfwer by differentishing on 1,2 e

! | i ‘
') ?N""“, Ff‘th\S.' 5X1-3x-20 dx "/) S‘MbS‘l\i\«"'\;ﬂZ L
jx(x +5) dx
2 Tebulee | #-sinx dg 5) Trig Subsh hwhion
< S‘/'“)' 2 )3 dx
3) Table oF _I_w"(jra'sf (‘I‘X
S sin((5% ) sin (3x) dx
EXJW\ Cndal‘- AQ(DM waent 4 Dw. 5/!’7//1

Solve ik of Hoo follovivy ,79 Mo mettod of your chorce
_ﬂ‘““" c|A°0$L 3 b'p %CM o C/L\LL'( l}j Aim(&wl‘\.&‘h'gn_

Y AET S Sx+3
) S ; :’ s ‘) J;‘:ﬁﬂz uiai
2) Sx(x’ﬂ)z Ax 5) Sx3e7xdx
3) (o™ ginfo™ X
S 0 sin (e )o\)z 6) Y Adx






